Resurvey of the 7th. Standard Parallel North

through R 48 E.
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he standard cor., of secs. 25 and Z6, falling i

20 lks., N. of my line,

w0
(—1\.
O
)
9
=
0
=
O
o
ct
&
I_.J
he
P
o
O
<
o
O
e
c+
27
O]
I=
o
o
o,
@)
i)
=
©
Q
a
0]
n

rom the standard cor, of secs. 25 and 8

He s POtPaCiné the 7th. Standard Parallel liorth
soﬁth of Sec. 85,

38.88 T find the standard i sec. cor. falling 68 lks. S. of my
Linms,
It is a basalt stone 9 x 9 x 7 ins, set in a mound of ?

stone and mkd. < -n the N. face.

r
Course of this %4 mile is & 89° &
@ ' 79.98 |, I rind the stamdard cor. of Tps. "6 N, Rgs. 48 and 49 B
- i .
falling 8 lks. S. of my line.
; : | It 18 a basalt stone 17 x 12 x 9 ins., , set in a mound
of stone and mkd. with 6 grioves on each of the ., E.
| 2
? and W. faces,. N
} S /’
3 ‘ Course or this 1 mile is N 89934 'L,
i
Resurvey of 7th 8 , through E.48 B "
, | From t-e standard cor. of Tps. %6 N, Rgs., 48 and 49 F ,
| Qreviouslyvdescribeé, T now 'ésurvey as follows.
Since A have Bt '?j,“rj{—‘a one 2-‘97'

hs} o, of - ehas mmMan

; I measure the
Aistances twice with this one set

of chainmmen and take the mean of their measurements
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inetend oF i tw ot a £ i |
instead ol using two sets of chain men,
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At the standard cor, of Tps. 28 N, Rgs. 47 and 48 E ,
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I set off 20°44':. on the decl arc. and at 12y, 61 ,1.m.t.,
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observe the sun on the meridian; the resulting latitude
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